C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 19,200 + 13,995 =

< L L L L L *—>» 2
2) 27,457 + 18,619 = 3
4,

< L L L L L *—>»

3 74,233 +8,738=

< @ @ @ @ @ > 7
4) 70,511 + 15,756 = 8.
< @ @ @ @ @ @ >

5) 84,867 + 8,162 =

< ® @ ® @ ® >

6) 90,347 + 6,248 =

< ® @ ® @ ® >

7) 50,212 + 20,457 =

< ® @ ® @ ® >

8) 78,392 + 18,938 =

< ® @ L ® L *—>
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ﬂh Addition Using Open Number Lines Name: Answer Key
Solve each problem. Answers

1) 19,200 + 13,995 =

1 33,195

19,200 29,200 32,200 33,100 33,190 33,195

+10,000 +3,000  +900 +90 +5
2) 27,457 + 18,619 = 3 82,971
27,457 37457 45457 46,057 46,067 46,076 s 86,267
< o —— @& —— o6 — 66— 06
+10,000 +8,000  +600 +10 +9 s 93,029
3) 74,233+ 8,738=
6. 96,595

74,233 82,233 82,933 82,963 82,971

< — 8 S S —# > 7. 70,669

+8,000 +700 +30 +8
4) 70,511 + 15,756 = g. 97,330

70,511 80,511 85,511 86,211 86,261 86,267
+10,000 +5,000 +700 +50 +6

5) 84,867 + 8,162 =

84,867 92,867 92,967 93,027 93,029
«——e— @& @ o 0o

+8,000 +100 +60 +2
6) 90,347 + 6,248 =

90,347 96,347 96,547 96,587 96,595
< S ——— >

+6,000 +200 +40 +8
7) 50,212 + 20,457 =

50,212 70,212 70,612 70,662 70,669
«——e— 9o o o o >

+20,000 +400 +50 +7
8) 78,392 + 18,938 =

78,392 88,392 96,392 97,292 97/,322 97,330
«—e—— 80— 0o 0 0 >

+10,000 +8,000 +900 +30 +8
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